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Chhattisgarh Board of Secondary
Education Model Paper 2021-22

g1l 93eya 9c — |
Hdr — 10dY
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quii : 75 HHI — 03 ©UC
Max. Marks : 75 Time : 03 Hours
e — 1. 9 ged Irfard B |
2. U HHIB 1 RIS U © | 39 dIF WUs o, 9 3R 9 T UAD
Gus H 05 U § I B U¥H W 01 3fd I7&fed & |
1. All Question are compulsory.

2. Question number 01 is Objective type. It contains three sections ‘A’, ‘B’ and ‘C’. Each
section has 05 question and each section carries 01 marks.

Eus ‘3’ Section “A”
geq HHIB 1A — 39 TUS H UIF qgfdbedid e 2| S99 9 YD BT Hal fddbed

ERESENILCI

In this section 05 multiple choice questions choose correct alternatives of each

and write

(a) Na, Li, K& 3MTHR BT Fedl g3l HA 81T —

(i) Li>Na>K (i) K>Na>Li

(iii) Na>Li>K (iv) 39 9 @IS &I
Decreasing order on the basis of size of Na, Li, K will be :

() Li>Na>K (ii) K>Na> Li

(iii) Na>Li>K (iv) None of these

(b) FF=fIRaT smaTsS # W fhdadT STy faee sl 81T —
(i) Nayo (i) Coa

(iii) Mgo (iv) Hyo

Whose aquatic solution will be acidic from the following oxide:
(i) Najo (ii) Co,

(iii) Mgo (iv) Hao

(c) VAIfed ¥l BT [UPAC T B —

(i) AT (i) gHfa
(iii) TAAIgd 37T (iv) HSHIsH 3Tt
IUPAC name of acetic acid is:
(i) Methanol (i) Ethanol
(iii) Ethonoic acid (iv) Methanoic acid g T



https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

(G EACEN

(d) A9 27°C BT Bfedd JA™ H H9 SN i—

(i) 270 K (ii) 273 K

(iii) 300 K (iv) 27 K

In Kelvin scale the value of temperature 27°C will be :-

(i) 270 K (ii) 273 K

(iii) 300 K (iv) 27 K

(e) IMT I&T WATA UV ¥ 5cm Bl g W &I I Ufifdg &1 98] ¥ g

BIfT —

(i) 4 =#0 (ii) 10 <0

(i) 5 |#I0 (iv) 20 &0

If an object is 5 cm away from plane mirror then the distant of image from object

will be :-

(i) 4 cm (ii) 10 cm

(iii) 5 cm (iv) 20 cm

9ug ‘9" Section “B”

Ue HHIG 1B — 39 @S H U (5) Rad I arel ued 2| 34 Rad =i @ gfid
PITY |

In this section five (5) fill in the blanks type question complete fill in the blanks
init.

(a) 10 3 & A9 UfeREr 2ofishs 4§ SiIg T 2, Jod UfaRie &1 714

Three resistance of 10 Ohms are connected in series, then value of equivalent

resistance willbe .............. ohms
(b) I fH g8 sl | IR dicwell fafsar Fara &= & 9w ar
............. DT YblU d¢ SITUT |

If in a big area, all insectivores birds are destroyed then infestation of .............

will increase.
(c) TN BT W TR UIST TZATT oo HEAT T |

Transference of characters from generation to generation is called ................

(d) T&DH DI SBIE oo =
Unit of kidney is ..............oeveiniinis

(e) AT TUT gRT 917 Ufafad <fiem, emirfl 8ix ... BIT © |

Image formed by plane mirror is straight, virtual and ...................
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9ug 9" Section “C”

U3 b 1C — Iad Fee Sy —

Match the following :-
A B
1. URT Q0 S0 <Hel
2. AIfSTH eSS s Il BT d
3. SR NRILESINI
4. foRSr® 7o 1N
CIINFSREAE CI|
3T+
SEIN|
A B
1. Mercury A. G. Tansley
2. Sodium Hydroxide Source of energy
3. Dynamo germicides
4. Bleaching Powder Metal
5. Ecosystem Alkali
Acid
Non-metal

e -— U FHIG 2 W 6 TB D U IMfAAYSTII U § U U R 2 (3)
3 FTRT & | STR BT 3THH eTeq AT 30 2 |

Instruction:- Question No.2 to 6 are very short answer type question. Each question carries 2
marks. Maximum word limit for answer is 30 words.
Ue HHIG 2 — MBI QA WEHerdl &1 TS §| g8 W UH H Irelig dor g H
aRi fIeee &1 af smus! daa ardt forews w3 fear = & o
AT TS WREFAl W XY Y fdeIT Bl Ul B UgaE DA
B |

(1+1)

You are been provided two test tubes. Out of which one has acidic solution and
other has alkaline solution. You are given only Red litmus paper, then how will
you identify the nature of solution of each test tube?

e HHIG 3 — RS Ah YR &1 RIS G aRay vd 389a Py 2 IUANT
forfay | (141)

Write the chemical formula of plaster of Paris and its any two uses.

hittps:/byjus.com
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U HHID 4 — MG Feldd Ud A faeved # i 2 3faR ey | (1+1)
Write any two differences between nuclear fusion and nuclear fission.
e HHId 5 — el IR AR 949 R & 9™ foafay | (Vax4)
Write the name of any four reproductive organ of male.
e HHIG 6 — TIRRf® iR fod ®wed &7 2)
What is called Ecological pyramid?
frder -— Ued SHid 7 ¥ 10 IF B YA SffATgSTRI U § Ud g W 3 ()
3 R 21 SR Bl Afdpad yee AT 50 B |

Instruction:- Question No.7 to 10 are very short answer type question. Each question carries 3

marks. Maximum word limit for answer is 50 words.

U3 PHHIDG 7 — 1 fH0UT0 STl BT T4 80°C B | AfE A 40°C ATl 1Kg it # fAf3ra
B < AT ST BT Y S BT | (3)

The temperature of 1kg water is 80°c. if it is mixed with 40°c temperature of
water of 1kg then find out the temperature of the mixture.

U3 HHIG 8 — I ol UG [ddel o H PIs o iR fIlReaw | (3)
Write any three differences between convex and concave lens.
U9 HHID 9 — Tl BT a1y BRI BT FH fo1Ray | (3)

Write flemings left hand rule.

g HHIE 10 — Sial & [AbRT # 999 UG 3T &l &1 YAdI 8?7 TSy |
()

What is the role of selection and adaptation in evolution of organisms?expalin.
e -— U9 HHIE 11 H 14 I S I AgSII U © IS U W 4 (IAR)

gip UiRa 2| ude ysa & araRe ey fou v 2| STv &) sifdiaq
Isg T 75 B |

Instruction:- Question No.11 to 14 are short answer type question. Each question carries 4

marks. In each question internal choice are given. Maximum word limit for answer
is 75 words.

g9 HHIP 11 — AT -1 IR AT A, B, C, D & AEEHG Gadb A SF ®I, 9 PH
A U 7, 14, 1, 6 UK Y| T AER W Fagd fb bF @

fererar - (1+1+1+1)
() g9t &g & (i) g9 NI 7 (iii) TS AT B
(iV) SHKIE RS

Isha tested A, B, C, D Solution from Universal indicator and find PH value
7,14,16 respectively. On this basis, tell about the solution; which one is

(i) Strong Alkali (ii) Weak Acid (iii) Strong Acid (iv) Neutral
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31erdaT / OR

T T BT Soldei-id fa=ag 2,86 = | forfRau &
() o8 = foa of &1 (ii) I8 a fHd mad &1
(iii) 39 I DI FASTHAT AT BN

(iv) 39 d@ ® UICHl 31 AT o1 8 |
Electronic configuration of an element is 2,8,6 Write :

(i) Element belong to which group

(i1) element belong to which period

(ii1) What will be the valency of element

(iv) What will be No of protons in the element

g HHIG 12 — RIRR & o 31 fdeod veFla iR Uddis® ofFal | 91 QT
e ¥ HifeT® &1 el SIaT AR <@ 6 ua 319 Fdd 3T 8
S U J1feT @1 (STerd)) el of S O U9 &1 Sfrarst 31w
2| 39 fohamil & e FHeR §RT Sigy | (4)

Shishir had two solutions of ethanol and ethenoic acid. He dropped a piece of
sodium and saw that a gas is coming out and brought a burning match stick &
found a pop sound comes. show these reactions with the help of chemical
equation.

31erdT / OR

QST BT Yo AINTH X° Fha W BT FOI & dAT g by UrSe?
BT Uh Uch BIdl 2| ofd ‘X’ Bl TH B © d U I Y’ Ia~

BT 2 S I & U DI GRRIT AR Sl B — (3+1)
() T B W EW arell fqEeE iwfhar &1 e FHiER
ferfa |

(ii) “X° BT STANT Uy el & U § Rl fHar S0 2
Compound of sodium is ‘X’ white colored powder and it is a component of

baking powder. when “X” is heated them “Y” gas is evolved which turns lime
water milky :-

(i) Write the chemical equation of dissociation reaction on heating.
(i) Why “x” is used as antacid?

U HHAIP 13 — FHG T Yd FAGRT [T T 87 IETER0T IhR W DI |

@)

What are homologous and Analogous organs? Explain with examples.
31e1dT / OR

q9sg ¥ ot fAgiRor &1 ufshar &1 faRay |

Write the process of sex determination in man.

g HHIb 14 — Ul YHIeT & Uiy Fdal 810 &7, F7 7MY 39 HIT I FH8d &7
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T AT AT T8 | (4)
“Plants are sensitive toward light.” Do you agree with this statement? why or
why not?
31741 / OR

“RIRTRT F BHI AT ad P 981 el sidlr’ FT 3T 5
FHIUF W HAd &7 F AT F TEI?
“Deoxygenated blood does not flow always in the veins” do you agree with this

statement? why or why not?

e — U PG 15 9 16 B @ U AUUSIIT T © IS U W 5 (Tid)
3w uiRT B | ud®d ue # oidRa& faded fAv MU 8| SR &1 1A
Ireq ST 100 B |

Instruction:- Question No.15 to 16 are Long answer type question. Each question carries 5
marks. In each question internal choice are given. Maximum word limit for answer
is 100 words.

U3 P 15 — TP HBell dicld &l Idag d 75 9. Tes WX Udid 8l g, ol
AAE ¥ SHS! aRAAES eI S By | (5)

(T & STd & JUdaid 4/3)

A fish seems to be at the depth of 75cm from the surface of a pond, them find
out it actual depth. (Given — Refractive Index of water 4/3)

312TdT / OR

UhTel 91 W 1.50 3fUAciId dlel Bid e H Y BT & | BId H
UHTS DI ATl S o] | (fear & fafa & uerer & @ 3x10°
Hlo /0)

Light enters form air to glass plate of 1.5 refractive index. find out the speed of
light in glass. (Given — speed of light in vacuum — 3x10*m/sec.)

U AP 16 — fdgd AICR &1 quid f=ifdd Nl & faia sifoy —
() ifeea e (i) fagia (i) & fafr
(gftearfera wra AM™ifdhd 3RE & WM WR fdgd Hier & g9rae &
fafa=r 9 & A foret |) (2+1+2)

Describe electric motor under the following heads :-

(i) Labelled sketch (i1) Principle (iii) working mechanism

(Visually impaired student will write parts names of various parts of electric
motor in place of labelled sketch)

31erdT / OR

TIRTENE H 319 & FRM @ JAUE &1 9o 79 fdwgeil & ofavia
DINTY —

() frm (i) foega aRuer (i) sracired TR

(gfte arfdd w3 faga uRu & WM W UIRT |EiSd 7 Hraer
fori |)
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Describe the verification of ohm’s law in the laboratory under the following
points;
(i) Law (i1) Electric circuit  (iii) Observation table

(Visually impaired student will write two precautions related to experiment in
place of electric circuit)

el — U PG 17 9 18 Tb & U ST U & UAD U R 6 (V)
3 FfRa 21 ude ues # oidR& fadweu g Ty 2| IR &1 ifdramaw
oeg AT 150 2 |

Instruction:- Question No.17 to 18 are Long answer type question. Each question carries 6
marks. In each question internal choice are given. Maximum word limit for answer

is 150 words.
U AP 17 — (a) ST oM & fIgd e Rigid qAseg (3)
(b) T BT Sfd Hford HieRor feriay —
(i) defRRM TRHTEE BT TH BRI W (1%+11)
(i) P DI MMRIToE & AT fopa

(a) Explain the electro chemical principle of rusting.
(b) write balanced equation for; what will happen :-
(1) when potassium permanganate is heated.
(i) Reaction of carbon with oxygen.
31741 / OR
(a) STUT P ded AT AT 2, 3T D Ugaril b a8 o & AT
arerg? N ahe fRiRay | (3)
(b) =1 ol & forg wqfera FHIeRoT forikay (1v+11%)
(i) TegfAfR™ @7 STefard 3 3ffHfshar
(i) Rie smaargs @ AIfSTH egsiaRss | sifafdhar
(a) You are given any element, how will you identify that given element is a
metal or Non-metal? Write three methods.

(b) Write the balance equation for the following reaction.
(i) Reaction of aluminum with water vapour.
(i1) Reaction of sodium hydroxide with zinc oxide.
T3 HHId 18 — (a) RRWN # Hule uv I g, g\faal § 981 aai? (3)
(b) e § AT HCL & dIg O & forlRey | (3)

(a) Veins have valves but arteries do not have why?
(b) Write any three functions of HCI secreted by stomach.
31741 / OR

() g Y &1 AR R Brd € w=i?
(b) ATGT H By I fgdrad offfre teor foaRkau |

(a) Pituitary gland is called master gland. Why?
(b) Write any three secondary sexual characters of female.
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HEAT — 10d]
fagm (200)

quiieh : 75 |HY — 03 €U
Max. Marks : 75 Time : 03 Hours
e — 1. |Gy rfvard B |
2. Ue FHHID 1 GRS U | 399 9 @S ?F, T R W 2| UAS
QUg ¥ 05 U § dAT & U WR 01 3id IrEfed = |

1. All Question are compulsory.
2. Question number 01 is Objective type. It contains three sections ‘A’, ‘B’ and ‘C’. Each
section has 05 question and each section carries 01 marks.

¥usg ‘3" Section “A”
Ued HHB 1A — 39 TUS H UIF qgfdbedid Ued 2 | S99 9 YD BT Hal fdbed

A ferfgy |

In this section 05 multiple choice questions choose correct alternatives of each

and write

(a) Na, Li, K & I Ioll BT 9T g3 HH BN —

(i) Li<Na<K (i) K<Na<Li
(iii) Na<Li<K (iv) Na>Li>K
Increasing order of ionization energy of Na, Li, K will be :
(i) Li<Na<K (i) K<Na<Li
(iii) Na<Li<K (iv) Na>Li>K
(b) F=feRad smaaTss & & foadT SToid faeraq e 8T —
(i) NO (ii) CO,
(iii) MgO (iv) H,O
Which oxide will have aquatic alakine solution from the following :
(i) NO (i) co,
(iii) MgO (iv) H,0
(c) URICT Ucbledl bl IUPAC AT & —
RCRIFERIS (i) TrATe
(iii) #=T (iv) AIFIED 37T
IUPAC name of Ethyl alcohol is:
(i) Ethenoic Acid (ii) Ethenol
(iii) Methenol (iv) Methonoic acid

hitps:/ibyjus.com
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(d) 400 K T AfeRrad 999 & a9 89—

(i) 27°C (i) 100°C

(i) 127°C (iv) 200°C
Temperature of 400K will be in Celsius scale :-
(i) 27°C (ii) 100°C

(iii) 127°C (iv) 200°C

(e) MN FHA &Yl H 3ufard faRor gUor & 1T 30°C &I HIVT 99101 &
Tl ORI IO BT HI9 BRI i—

(i) 30° (i) 45°

(iii) 60° (iv) 90°

Incident ray forms 30° angle with plane mirror at MN surface. Them angle of
reflection will be:

(i) 4 cm (ii) 10 cm
(iii) 5 cm (iv) 20 cm
Yus ‘q" Section “B”
U AP 1B — 9 @S H Ui (5) Rad I arel yed 2| 34 Rad wm=f @ gfd
PITY |

In this section five (5) fill in the blanks type question complete fill in the blanks

in it.
(a) Th IRYY H 10QQ 9 & Uig YfRIT FAMIGR HH H Sl T ©
ar aiRuer &1 Jod TRRET o BT |

In a circuit five resistance of 10Q2 ohm are connected in parallel order. Then
equivalent of the circuit will be ..................

(b) DA TRl & TN W I W g9 > Y W 0.01
feNumasmife ST 81 odr © d 30 919 & Ul W)
ety sriferes S| BT |

If 0.01 milegram arsenic is deposited on each paddy plant while using

insecctiside. then .............. miligram arsenic will be deposit on 30 paddy
plants.
(c) RIPAT T oo P TP &I © |
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(© [AEER:
(d) STHTIT BT 3MAR® e oo 3t | gRfara <&l 2
Internal membrane of stomach is protected by .......... acid.
(e) ST TUT gRT &1 ufafda fiem mari &R ............ BIAT ¢ |

Image formed by convex mirror is erect virtual and .................

Eus | Section “C”

U3 b 1C — Iad Fee Sy —

Match the following :-
A B
1. QS SepTatioll e
2. FARA STl B HoRAT g B
3. DT T
4. STaT TS T Yeed
5. faega 3T
&N
RN
A B
1. Animal Ecology Water
2. Chlorine Remove hardness of water
3. Sulphuric acid Non metal
4. Washing soda Charles alton
5. Electricity Acid
Base
Metal

fIder -— U9 HHId 2 ¥ 6 dF & U ISR U 7 UAd U W 2 (3)
3 FERT 8| SR @I Afdpad yes T 30 B |

Instruction:- Question No.2 to 6 are very short answer type question. Each question carries 2

marks. Maximum word limit for answer is 30 words.

Ueq HHIB 2 — ] 7 Aol ¥ H W BT ArsT el IHHT PH A9 6 H dacAdhy
8 IR faAT| 39 QU ¥ I 91 H 3Mfd FIHI R Fl?

Lata has increased PH value of fresh milk by adding Baking soda with from 6
to 8. More time will required from this milk to change it into curd why?

Ue HHIG 3 — W B Arel BT IS G for@gax & ST fafaw | (141)

Write the chemical formula and two uses of Baking soda.



https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

(G EACEN

39 P 4 — IOl P IRERFTT 3R IR WRERNET Gl § dls gl Fdx forlRay |

(14+1)
Write any two differences between the sources of traditional and non-
traditional energy.
U3 HHIb 5 — ATGT o4 3 & PIg IR AW fIRau | (Vax4)
Write the name of any four female reproductive organs.
U3 HHIB 6 — UIAG SuHar & © | (02)

What are primary Consumers.

e -— U BHIG 7 W 10 B B U JAfTAgSTNT I € IS U W 3 ()
3 FEIiRT © | SR @ fdhad 2reg T 50 & |

Instruction:- Question No.7 to 10 are very short answer type question. Each question carries 3
marks. Maximum word limit for answer is 50 words.
U HHIB 7 — did & UPh AR DI @dls 200cm. & | $HD 1T BT 30°c H 40°c qH
M W AR &I a8 § fran gfg el 9t dR &1 &9 gER
TOTd 26X 10° URT °c BT 2 | (3)
How much length will be increased in a copper wire whose length is 200cm.

while raising its temperature from 30°c to 40°c (If linear coefficient is of wire

is expansion 26X 10° per co)

e HHIdH 8 — Il QYT IR 3fadel qUUT H Py A 3 feRay | (3)
Write any three differences between convex and concave mirror.

e HHID 9 — TG BT qIfe=T 81T &1 A oy | (3)
Write the fleming right hand rule.

Ue BB 10 — Sl & [dard & gid & b g fdg oy | (1x3)

Write three main prints of principles of biological evolution.

el — U9 HHIE 11 9 14 I S I AgSINI U © IS U W 4 (IAR)
gip MUiRT 21 ua ysa & araRe ey fou v 2| Sov &1 sifdiedq
Ieg T 75 B |

Instruction:- Question No.11 to 14 are short answer type question. Each question carries 4
marks. In each question internal choice are given. Maximum word limit for answer
is 75 words.

ged HHib 11 — PH ¥ @sd &7 Qe Silgd d IHHI He@ o fd=gall w®
forRRau | (1+3)

What is called PH value? Write its importance in three points in daily life.

31erdT / OR
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3Mmegfiep amraa frm fIRay | amegfeies amad WRofl @1 o faeivarg

forfey | (1+3)
Write modern periodic law? Write three characteristics of modern periodic
table.

Ue HHID 12 — DIRIH BT Ud AT S dias forg 8¢ §ha 37 &1 garet ¢,
BT YA T I AR A0MIARIG & wY H {HAT ST 3 |
(a) 39 AIRTH BT 99 T g TRy |

(b) =9 AP BT 9 H Gar BT R DI A T g 8 B,
fAfhaT &1 YRS FHERr forfRay | (2+2)

Calcium compound which a yellowish , white colored matter is used in textile
industry and as germicides.

(a) Write the name and formula of this compound.
(b) Which gas is released if their compound is left free in open air. write the
chemical equation of this reaction.

31erdaT / OR

AIE & U UIHTd 3R UIHIsd 3 ol diar H W o fdbw] a8
PR W NG BT M foRg=1 o AT @ AIEH DI AT G
N b ugaE Wb b fbw dlexk § D9 @ U € 99ar
RRIRIfE FHiERr o forRay | (2+2)

Mohan has two beakers in which ethanol and ethenoic acid were kept but he
forgot to write their names on beakers Now what experiment he should do to

find out that in which beaker what matter is present? write its chemical
equation.

Ueq HHIDB 13 — ITgher AR YSIITHRI T 57 UAd Bl Iyl fokay | (2+2)
What is an adaptation and speciation? Write the example of each.
31741 / OR
Rrper At THITAAT T 87 S BRI foffay | (2+2)

What is sickle cell anemia? Write its factors.

U3 PHHIb 14 — BAR INR H IHod fharil &1 Fared 3 8l 87 SereNul

NIESESEEIR (2+2)

How involuntary actions are conducted in our body? explain with example.
31741 / OR

EAR g4 ¥ V& BT URasd &4 8l o | (04)

How blood circulation takes place in our heart? explain it.

e — U3 FHIE 15 9 16 T D U <TESTRIG U ® UAd U W 5 (U19)
dip uiRa 21 uxe uza & oraRe ey fou v 21 SR &) sifdieaa
I T 100 B |
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Instruction:- Question No.15 to 16 are Long answer type question. Each question carries 5
marks. In each question internal choice are given. Maximum word limit for answer
is 100 words.

UeT HHIB 15 — I o b AT Iehdl s W Rerd a&] &I Ufifdd a9 &1
fhRor A Gl a1 gfafde @1 gl mer g Rerfd falay |

(2+3)

Ay — gfeqida el I & o ) S99 o9 & &1 [SuAnT
for |
Draw a ray path of image of an object placed at centre of curvature in front of
convex lens. Write the nature of image, size and position.
(Note : visually impaired students will write two uses of convex lens in place of
ray diagram.)
31741 / OR

T QY b AR ™l 9% BT Ufdfdd g9 BT fdRer An
Hger a1 ufdfda &1 gafd, mer 9 Rfd folay |

(@ — giteared faemll e & W\ W) ¥9ad U0 & & SUAnT
forent |)

Draw a ray path of image of an object placed in front of plane mirror. Write the
nature of image. size and position.

(Note : Visually impaired students will write two uses of plane mirror in place
of ray diagram.)

geq HHlb 16 — fAggd SIFFA &1 quid frifdd efiver & sidefd Sy | (1+2+2)
(@) Rrgra@ (b) THIfhd IR (c) Prfafer

AU — gheqiea el aifed e & e wR fagd ShE &
gqGe & A= W & ™ Bl foraA |

Describe electric generator under the following heads :

(1) Principle (i1) Labelled sketch  (iii) Working Mechanism

(Note : visually impaired students will write the names of various parts of
electric generator in place of labelled sketch)

J72rdT / OR
2l UfORIE R, I R, & WHMIGOR HH GG T quiF fFeifed INdaT
P AT BT |
(a) rHifha fagd uRuer  (b) ugad g &1 e

(Ea — gieqnSa faemedl amifea faga uRuer & o R FaHR
HH FATSTH T BT ® T AP IR R g &1 A foreiw |)

Describe the parallel combination of two resistance R; and R, under the
following heads:

(i) Labelled electric circuit (i1) Deduction of probable formula
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(© [AEER:
(Note : Visually impaired students will write What is parallel combination and
value of potential at each resistance in place of labelled electric circuit.)
e — U FHI® 17 9 18 T D U AESIRIT U T UAD U W 6 ()
i FEiRT & | Id w1 H ffaR® fadwen QU 17 | IR &1 srerawan
e T 150 % |

Instruction:- Question No.17 to 18 are Long answer type question. Each question carries 6
marks. In each question internal choice are given. Maximum word limit for answer
is 150 words.

U HHID 17 — (a) 9T BRI 4 9 g (ATIEd AMAHITAT & HfoTd AHIBRT
ferfag — (3)
(1) Dfer¥ PrEiFe B TRT HRA W |
(2) AifeTs o eioE o o
(b) eTfcass MTaATSS | o1 3TaIT B JA™ID UlchaT FHe8y |
(3)

(a) Write the balanced chemical equation for the following reaction, what
happens when,

(i) Calcium carbonate is heated.

(i1) Reaction of sodium with oxygen.

(b) Explain the chemical reaction of metal reduction from metallic oxide.

31rdT / OR
FT BRI 14 59 ©q feiRad Al ol TA™e TSR
Hfgd forfRay — ()
(i) ATSEIOM @ ST A9 9 |19 W gIgeio | ol aRi |
(i) e™eR Nie o AIfsaq eSS A fhar a=rll 9 |

b) fewraT 9o uerRll # & M &1 ST fhar Sar g 3R
G (3)
Write the balanced chemical equation for the following reaction, what

happens when,
(i) Reaction of nitrogen with hydrogen at high temperature and pressure.

(i1) When granulated zinc reacts with sodium Hydroxide.

(b) Which gas is used in sealed tin packed food items and why?

g3 HHID 18 — (o) A # SR dgar | uRag" &=ar 8 a7 (3)
(b) AR & 9 Hr falRaw | (3)

(a) Blood circulation in arteries with force, why?
(b) Write three functions of brain.

31erdT / OR

(a) U WY & ol BIMPR® & o417 (
(b) TR ® ®r1g 04 (03) facia® <iffie deror forRau | (3)
(a) Smoking is injurious to health why?

(b) Write any three secondary sexual characters in male.
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